A S P R R

i) (95 848

Y1E 8 A 1T M B YR (A

Ik

P A

BB
(BT —— 137 Jf ROV 5 I A

2013F 45116}

7 O BRI S LR (gD ) 231325 TR ik » S 2 T e

YL 7 * JEIET i G () 2710060 @) L/ B e Flj 74 Ao

Spt R

(78

5 ;%ﬁﬁm“ o e R 3% ]
s o 7 I EEN I~ _m — ! L I
F#6xD Hhgt ﬁﬁH%¢H;P~ {ifpi S BAFRIE(E3L)
e 6% () 7
RO
137 4] 15} !
#2) 5,287,610,000
gfiff 3)
] :J\ LApE R 25,249,000
2013 & 4 7| 16 [ IE[pIpy 7,713,000
§57%]
TP S| VRIS i R o
2013F 4 5] 16 F! 5,287,610,000




SR A R

Vi

1 FIELT BTG 5 PR T R T A -

2. T RYR (PR SYAB2SA ST - [ R R (PR ST13.25B [ATIRY e [ TR (1R KR OB [ -

3. FITI 1T FRGFE (L) 57 13.25A [ 5 (= 1 RET » JE il 2 B8 /7 IR = &[G PR 6 o A 7 LR - T I T T gy T T
A [ G - BIY) 2 [ & T FG~ Y7 R [ IR & 7 R~ IR (O 6 SR o G AT T IR
o Iy F PR AR ) A T R E Ay A R (L g 7 A R A

4. il BT A T LT P o AR T ¢ i R E R AR T I A R O T s R ) A
[PIEEN) - R~ FAIFELL oA 7 IR T PR [ -

5. YLET AT FIETETIREVEY » B T R TR AT T (B TSR B A B 7 -

6. Y e -
- TR BRI TR 0 R
TR TR R I A 175 [T T L [ TR P < TR 1T

7. Y -
~ TR BT TR R
. f?/gf,j?yg/}]//zj/‘?//ﬂ{/{ﬁ/}]gf/i?ﬁ'y'ﬂifﬁi/’E/ SIGETREE Froi e A fL/ﬁég/@“/})/[’ri’f‘//;{/%“/}’f;@if#/ﬁy'ﬂf/ﬁf BRI TR Frarley e
~ TR, T T T -

8.

Hsit i [ IR %ﬁﬂﬁi&ﬁfﬁ/ﬁ//f‘f@#ﬁ% 1H#] o



RS ST S

A. E%[ﬂ[ﬂéf[
L BN - i
e s fEp = il =g Y T AREE
L pAE! [ [pRR 53 B E [gg) ] L(;gi )[JFF? (PEF%%; (%ﬁ)
2013F 4| 16 |! 7,713,000 I pLET 1.78 1.71 13,518,190
aka 7,713,000 13,518,190
B. PIEI pFREL Y- ]| R9pvEE 5 4 ot faevp]
1 A = A (F RO ) T Hﬂ’?ﬁémllﬁ%ﬂ%ﬁ YRt ! (a) 13,694,000
2. Efﬁ\%sﬁiﬁmﬁﬁf Pl pURAEIRIARE ST (e F R R R =158 A PV 1) 0.259%
((8)x100)
5,287,610,000
R+ 1 AR ] By fOMLEYR (IR O sl ] By 20135 38 AL R ARabvl o (7 -
By o Z5{Ph = I AR - KR H“ﬁ—ﬁﬂiﬁaﬁ%ﬁéﬁ ’M‘«@%&g,, = éf*fﬂ phiriE DI P P RRES -

IR UL 6 7~ i 05 € BT B0 TR 4 20T | 2 P i -

B Fus
(I €)
T EES

(il 5 PORT S ERA )




